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Plot [’ ECopt’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P6AW

BFE) | GEBETK () | s (EAH/HR) | XS R

08:10 327 160.0 [Z=| 1BRiB@08:10 Bzh (KEEREE)
08:55 327 160.0 & =| 1Ri%e08:55 Bz (kPBIEREE)
10:10 327 160.0 (Z=| 1Big@10:10 Bzh (REEREE)
11:25 327 160.0 =l {Rige11:25 B3 (RAERSE)
12:25 327 160.0 = RiBe12:25 B (REAKEE)
13:30 327 160.0 =] Ri%e13:30 B (REA{EREE)
14:25 327 160.0 5| {Ri%014:25 B CGRAERSE)
15:15 327 160.0 = Rige15:15 B (REAERESE)
2it]2616.0 (8%) 1280.0 3Z3KEC: 2310.0, PH: 6.5

HATHRERA (0.95) , IS
FREAVERS STMETR (306.0 :
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08:55 327 160.0 RS {Ri%@08:55 Bz (FRFAMERSE)
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14:15 327 160.0 (Z=| 1BRige@14:15 Bzh (REERESE)
=it 2289.0 (70%) 1120.0 3EGHKEC: 2380.0, PH: 6.5

WLFHRERK (0.95) , FRE -
HEREHLE R 8 STEAEARTF (306.0 : 160.0), AIAEKREERVE
ZRIASEBRIERE160. 0 ml.
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P6AW

BATHRERA (0.95) , iHiae
FREAVERS STMERRS G110 -

BRIASERRIERE160. 0 ml.

BfiE) | ESBIETK (D) | EME (EH/ER) | XK R

07:55 320 160.0 [Z=| {Ri%e07:55 Bl (REAHERESE)
08:40 320 160.0 & =| 1Ri%e08:40 Bz (kPB{EREEE)
10:00 320 160.0 5| {Ri%@10:00 B3 (FRAERSE)
11:10 320 160.0 =l Rige11:10 B3 (GRAERSE)
12:25 320 160. 0 =] Ri%e12:25 B (REAERSE)
13:25 320 160.0 5| {Ri%e13:25 B (REAERSE)
14:25 320 160.0 =l {Rige14:25 B3 (RAERSE)
15:25 320 160.0 5| Rike15:25 B (REERS)
2it]2560.0 (8%) 1280.0 32 UHKEC: 2460.0, PH: 6.5

160.0), FIREKRREERE
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